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0RWLYDVL� NHUMD� LQWHUQDO� NDU\DZDQ� PHUXSDNDQ� VDODK� VDWX� NXQFL� GDUL�
NHEHUKDVLODQ� VXDWX�SHUXVDKDDQ�NDUHQD�NDU\DZDQ�PHUXSDNDQ� IDNWRU�XWDPD�GDODP�
NHEHUKDVLODQ� VXDWX� SHUXVDKDDQ�� 3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQJHWDKXL�
EDJDLPDQD� PRWLYDVL� NHUMD� LQWHUQDO� NDU\DZDQ� EDJLDQ� VDOHV� $872� ����� 3DGDQJ�
\DLWX� VHEXDK� SHUXVDKDDQ� \DQJ� EHUJHUDN� GL� ELGDQJ� SHQMXDODQ�� SHUDZDWDQ�� GDQ�
SHUEDLNDQ� NHQGDUDDQ� PHUHN� 7R\RWD� \DQJ� WHUOHWDN� GL� -DODQ� .KDWLE� 6XODLPDQ�
3DGDQJ�

3HQHOLWLDQ�\DQJ�GLJXQDNDQ�SDGD�SHQHOLWLDQ� LQL�DGDODK�SHQHOLWLDQ�GHVNULSWLI��
GHQJDQ� WHNQLN� SHQJXPSXODQ� GDWD� \DQJ� GLJXQDNDQ� DGDODK� NXHVLRQHU�� SHQHOLWLDQ�
GLODNXNDQ� GL� $872� ����� 3DGDQJ� VHODPD� �� EXODQ�� 2EMHN� SHQHOLWLDQ� DGDODK�
NDU\DZDQ�EDJLDQ�VDOHV�$872������3DGDQJ�EHUMXPODK����RUDQJ�

%HUGDVDUNDQ� SHQHOLWLDQ� \DQJ� GLODNXNDQ� GDSDW� GLVLPSXONDQ� EDKZD� GDUL� ��
LQGLNDWRU� PRWLYDVL� NHUMD� LQWHUQDO� \DQJ� GLWHOLWL�� LQGLNDWRU� WHUWLQJJL� WHUGDSDW� SDGD�
LQGLNDWRU� XPSDQ� EDOLN� DWDV� KDVLO� SHNHUMDDQ� GHQJDQ� 7&5� ���� GDQ� WHUHQGDK�
WHUGDSDW�SDGD� WDQJJXQJ� MDZDE�GDODP�PHODNXNDQ� WXJDV�GHQJDQ������ -DGL�GDODP�
SHQHOLWLDQ� LQL� XPSDQ� EDOLN� DWDV� KDVLO� SHNHUMDDQODK� \DQJ� GRPLQDQ� PHPEXDW�
NDU\DZDQ�WHUPRWLYDVL�GDODP�EHNHUMD�
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